Test 1 Name: Eééf“f

Dusty Wilson
M qthyl 48 It is rare fo find learned men who are clean, do
- not stink and have a sense of humour.
No work = no credit Duchess of Orléans
2 i 2
Warm-ups (1 pt each): (_;) = 4 W%ZI -9 5 :ﬁgﬂﬁ@g.

1.) (1 pt) The quote above is attributed to the Duchess of Orléans regarding Gottfried Leibniz
(the co-discover/inventor of calculus)., What special qualities did Leibniz have? Use complete
English sentences.
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2.) (16 pts) Find the derivatives of the following: (Simplification is optional).
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b.) (4 pts) y(x) = (336S +x - 2x)~(5 - 4;\:2)
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3.) (4 pts) Find /"' (0) if f(x)=x ~7x*.
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5.3 (5 pts) Given the function f(x) shown in the graph to the right, evaluate the following:

2 f(-y-_ES

b) lim f(x)=_2

x—>—]

c) lim f(x)= T

P G I

d) lim f(x)=_DPE

e)Is f(x) continuous at x =17

Explain why or why not using the defimition of continuity?

NNeoo ¥—Ql\ = %, + L - );M—i g(x)
X}
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6.pt) Consider the table of values for y = f(x). Suppose that f(2) is undefined.

a.) Estimate lim f (x) xSy
1.9 6.849
9 | 1.99 | 7.8805
1.999 7.988
b.} Based upon the given information, is f (x) continuous at x =2 ? : :
Explain your answer. 2 unde‘:ﬁned
k ~ \ 2001 | 8012
Ho ) gLZ\ s UMC@a@?P&J 201 8 1205
2.1 9.251

c.) Use the table to calculate the average rate of change of £ (x)on the interval [1.99,2.10]

Joe.  Poe f2u0) - S G us - 7 gmos

2. o - I . C}c? 4 ”
7.) (4 pts) Use the definition of the derivative to find f'(x) if f{x}=3x—-5x"

¢ = Lrm 2:,3’(‘)('*‘;"\ - §(X4L\1] *[3%—«-—5':{;‘}
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Y 3L /’{13' Joxh - SL* y AT
Lhae L

= Wm (3~ e - 5Ly

haa
= 3 —lox §’L>€3'=~— 3~ Jox
§.) (4 pts) Consider the function: g{x)= 3x-6 3 (X~ 2)
2x—4 2.(%x-2)
- Y,
a) g{(2)= w0 b.) !\f}g(x): .
¢.) lim g{x)= l/l.. d) lim g(x)= 3 /o
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5. (7 pts) The cost C in dollar from the production of x of the ail new iPad’s is:

C(x)=400x ~0.01x" +19,000,000

a.) (1 pt) Find and interpret C(0).

The  §xed coscc are. AR oco ocoo

b.) (2 pts) Calculate MC(x). = “po - ¢.o0T ¥

AGX) = Yoo -0 62 x

c.) (2 pt) Interpret MC (10,000) using complete English sentences.

’ﬂ‘& Cost =% D/bcéucpfr-\g che jDracJa"L‘ 1 4

% abewt Broe.

d) (2 f)ts) Find and interpret C (10,000}~ C{(9,999) using complete English sentences.

-

T}’\e- X ALK o5 a-f .pméuc:-?pg C’Lle. E'D,Ovod" 1L My

is _4.%2_90,9[

10.) (4 pts) Consider the function g(x)=x".

a.) Find g (3.1)

3R N\N=9-(l

b.} Find the equation of the tangent line when x =3

%!(,X\"z X gyﬂ’ & leafﬁg

N31= T L) g-a= 6 (x-13)

e

c¢.) Find the y value on the tangent line from (b.) corresponding to x=3.1.
-1 = (6‘&%4\-3 o= uy= 9.6
d.) Compare the results of (a.) and (c.). and explain the similarity of the results.
N -~ A}
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PP § () stears  X=3
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